
1. 

2. 

3. 

(A) @q.LW6uit, @lqW 

(B 

(C) 

(D) a), plq 

(A} aflenTig GsTMS 

(B) 2bo LD} QsmD5 

(D) 2aJGOLDG G5TGDE 

560T L Dls. 

len 

(B) yalcor GroD Bna 

(C) yelea LoaviB5 Bena 

(D) JTI� 60T blna 

DEE 2023 /C 

PART -A 

4. 

5. 

2 

6. 

9_6) 60T LI 

Glüy uTG) ? 

uTLTob 

(A oiGoflan a HDLD 

(B) G5á) olsmTD 

(C) 

(A) 

sLQUQuui 

(D) L`GOD oflsrgD 

LITOJ6OS WT) ? 

(C) AbgInUT 

(B) 

GBrga 

5ÜuT 

(D) lflwiuT 

(A) BG 5, BLg0, Bg o÷, G LÔl, 

(C) G J, GDG5),' BD 6, GpL, 

(D) BgI, 05L5u, GBTg, Gb(6ba), GBL5) 



7 

GuTAJao 5)L60GoT lsuoJ5|6óT . 

EopnI 2 - Q506"nOT PÜy" GrGOID 

(A) FoDDI 1 el, 2 $ougI 

(B SaDg1 2 DL Q� sfl 

Lols. 

(A) pGn), 1aJb, mpoy 

(B) paGn, 9LQù, Gsrliy 

() ouD, GgmGlig, yly 

(D) GTG�TPlLL, cbaliy, pina 

(A) fssr 

(B) GTlisn) 

() QpbgsTN 

E 2023 /C 

6T6)OI ? 

3 

10. "dsT(560E yoT (G5LD uGOLGuwrra GD 

AGS00T GT(5 LD 061H5" 

(A) 0T L;60) L60) LD 

(B) 

(C U6D5LDTLf 

(D) um(H6iT Qls) aunS 

11. flwnuTaO uppÜULL BI 

(AJ sgaurb0 

(B) 

(C) 

(pDLDRfls GsranA! 

pbo aILITLO -pÜysaIT0 

SGiGDGT 

(D) `aJ5flbsmDGRÍl 

- BHauiT(eHauit 

- BlGB0SGsut 

P.I.O. 



13. 

(A) Gl�hl 

15. 

(C) LD(bSD 

16. 

14. eyoGrpmLD GoubpnD� QsrnS GTgI ? 

(A) e5Id 

(C) 2D5ud 

(B) 

TuT, (5(6b5L�' , lu 17. 

() 

(A) 5TAD (LDLD, 2 60LWg 

Qsm0sGT GTGNOU ? 

(B) 

(D) Gpugo 

(D) 5mGU(LPLD, LOTGOT L 5 

(B) (). () 

(B) 

(D) (), (F) 

DEE 2023 / C 

(D) 6055T(Y5 

(9) Gusr5 Ã), olaO;B0 

( ) GlsÜLG), 9 OJHS0 

) p a, wDi 

(F) GuDGyg), gli�g) 

(AY (), (). (@) 

(C) (g). (@). (Fr) 

5L S 605 
18. 

4 

9_600T Le IT56IT T? 

6J605UG GTIGS GJGDSU9l (GD ? 

(A) 

(B) 

(C) 

(D) 

(a) 

(b) 

glol6oIT, QsTGDL oloT 

sITGTA) 6GoTIT, lolGoIT 

(B) 

glumel6oTT, lsTOL 6lT 

wOlGotIT, GJ6J l6oTIT 

(c) GL(GPSI (iüi) 

OHWd (ü) 

(d) Gr5TS 

uoD aT () 

(B) 

(A) (a)-(), (b)-(ii1), (c)-(iv), (d)-(v) 

(C) 

(a)-(iii), (b)-(1), (c)-(ii), (d)-(v) 

(a)-(i), (b)-(v), (c)-(iv), (d)-(1) 

(D) (a)-(), (b)-(ü), (c)-(iii), (d)-iv) 

(D) 

smGDGSl 60F 
Tu60L 

(v) 

(iv) Lyofl6ns 

19. GnDo 1 - ui 5IÜ UTLl4 c 

(AY BouMnI 1 stl, 2 oD) 

SoaDI 2 -(p 60) Jæ ITL ooT LI 

9_600T O 

SaDgi 1 $oum, 2 sfl 

SoDMI 1 sfl, 2 sfl 

5T GO0T L 

SogI 1 goug. 2 5g 
2 



20. 

(a) 

(b) QsTL60L (iü) 
() osang 

(c) 

(i) 

Glsug). 
Gleneu 

(B) 

(A) iTGDLD, OL6T6) LD 

(a) sli$ 

(C) 

(ii) 

(B Qafl6oD, 5oioTGDLD 

(d) LoGofl 

(v) 
(AY (a)-(i), (b)-(iv), (c-(ii), (d)-(v) 

(iv) Lyotfi, 5TGHÀlGDg 

(B) (a)-(ii), (b)-(), (c)-(), (d)-(v) 
(C) (a-(i), (b)-(iüi), (c)-(iv), (d-6) 
(D) (a)-(iv), (b)-(v), (c)-(iü), (d)-(iü) 

() QeDLD G, auTLOD 
(D) glIGoTIT S5), Gt6DLD Gu 

LDT, LJ60)60T 

il, slorsTÚI 

2023 C 

(i) 

GauDy, DT`G 

(i) 

(iv) 

Ggmärlu 
(ii) ugÜUTLO 

l (a)-(ü), (b)-(ii), (c)-(iv), (d)-{1) 

umaioT 

(a)-(iü), (b)-(), (c)-(i), (d)-(iv) 
(a)-(ii), (b)-(i), (c)-(i1), (d)-(iv) 

(D) (a)-(i), (b)-(iv). (c)-(ii), (d)-(ii) 

5 

23. 

56ÖTL Dl5 : 

(A) LDGfl5ir, LDÍlT AOgÜUg 

GeL BpsT ? 

(B) LDGfl IT, 

(D) LDeflsm! 
GsL flpsT ? 

GesL fogT ? 

(C) oflsm! 

H|QD WT5 ? 

(A) l GD0T 

Gom uwt`SÜULO `GsopÜULL 

25. Gum(haHj5 : 

(B) 

(a) Gluyaflsos 

(C) 

(b) T 6ofl6nF 
M60) L 

(A 

(D) 

(c) QT)ASl 6)F 

Dal gr LD 

LD 6ofl g T! 

(B) 

(d) oparuOLL (iv) b60F 

(D) JpGlLom 

(i) 

(ii) GsGÜU 

(a)-(i), (b)-(iü), (c-(iv), (d)-() 
(a)-(i), (b)-(iü), (c)-(ii), (d)-(iv) 
(a)-(i), (b)-(iü), (c)-(), (d)-(iv) 
(a)-(), (b-(iüi), (c-(iv), (d)-(i) 

P.T.O. 



26. 

27. 

ablsLIGafl i), Gymoo autloqs 
ULL 

28. 

Quuts5ÜLILL5). 

(©) gr6lwTGoTT 

(A) 2((hQJ5 9 Gotl 

(B) 95i Goml5i yGofl 

(B) LDSLyGOJGHl 

(C) 50GpuGupp ofl 

(D) lGUTGOTIT 

(DY 9_6J600 LD otl 

(B) 

(AY UmaJaGrg GuDI�sA1 asyaon0 

(C) 

DEE 2023 / C 

(D) Gs6JG5un IaJTOGT0T 

29. LDIJLyo AopuHp sfluT6a1 G5TLdSGD AT� 

Gzitay GFLIS. 

(1) 

30. 

(2) 

(3) LDTGDVS 5Gpla Gba srG0TES(OT50 

(4) 

LDDTGS LDG00T LD oitlw). 

(B) 

l4.60T. 

(A) (1), (3) -� sfl 

(1), (4) -� sfl 

(C) (1), (2), (3), (4) -b sfl 

(D), (2), (3) -� sfl 

(B) uflgorg5G5t 

() GzaGpuo LITOIT600T IT 

(D) T. aT(5LDJ GoTIT0d 



B1. 5TLJ 6D LD 

2. 

(A) bT. JTGOT LOTLDG)A) 

(B) 
(C) 

(D) (4P. AH600TITFOULD 

(A) gLLaSn}g0 
(B) ysGbg 
(C) 
(D) sDud 

(C) 

GpiGD ? 

(D) 

.oT gsb5TH6T 

(B) (pa5 0460 

blp a0T 680T 6 

(D) 

ufl 60T 5ITDTLO 

(AY 

FUsGl5TGÖT LT0 

(B) 

(A) sTd BITÖLIS 

EE 202 

lqy60 

(B od GT(LQUE 

Coj CsmeTSGT 

(C) omLO 
(D) 9 

Bb66n 60T 6T(UB 

GTS ? 

PART -B 

7 

36. 

37. 

38. 

UTLÜULL lSlJD GTG) ? 

(A) 

(B) 

(D) GLDrBl6ot L4TIT60T LD 

(B) 

pTYgrG0T LD 

yHETâLO'" TGOIº BblooTit ? 

(A) 6umaJ60 G0TLJ 6Osfl 

() 

DHSITLYJT GOOT LO 

(B) 

lsualaofl 

RLLGofl 

(D) J5JQJ GOofl 

GTGOT LISÖGÚ Gum(Hair: 

(C) yol 

5LoT 

(D) H60) G0T 

GJ60TI60M lsIT60T L IblS 5IA GT5 ? 

(A) GObQsrDE 
(B) Dgouas 
(C) s6lgQgrns 

6T 601 60)LD 

(Dra GOGIO 

P.T.0. 



40. 

41. 

42.. 

GpyoiT 

(A) 7-o 
(B) 

43. 

(C) 9 -o 6ypanp 
(D 10 -o 6pnp 

Gurgio 

8 -o 6DDD 

(B) 

(A BbooT GT(gI 
(B) fl5)5o 

(D) 

fluyeTaTE5 ? 

(D) 5Qu BmjUgI 

5pD 

GT 60T)| LJ5(HLD BI) GTg ? 

Gr GöTD DduDp gI GT ? 
(A), LD60of GLD60 A) 

6T 60)O ? 

(A) u, Lo 

(B) 

(G680T L GUGesf 

(C) u, 

(4 sGSTayasgst 

DEE 2023 / C 

(BY 

(D) 

(C) $6GHITNFDLIbgi 
(D) 5eat 

, i 

ç, u 

45. 

46. 

47. 

8 

GluTHGT GT6ÜT60T ? 

(A) b, DEßl 6n 
(B) (6Úy, QavafluL 

(C) b6ÝTGNLD, ̀ ND 

(D) 

- GT60T 

(AJ 

(B) 
(C) 

(D) 

(B) 

gwo, 5�;5b 

( 

w6aTlg6oTIT0d Eo|JG) GTS6) 60T ? 

lornl loiT6OaT 

(A) 

irGn aTG Qlsoflo 

(A) LD60f1 GLD 5G0 A) 

T GD GT LJTL 
iT 60) GTT LIO uwt` 

Jâl b5TD AMÍl 

âlaoiussrJD 
(D) (G�oT L GU G 

IITI 60TIT 0t ? 

flu 

(B) lw AjsGT 9gsi5o 
(D) GoJ�T LIT 



1S a prOcess in which, there is a 
direct translation of the element of a word 
nto the borrowing language. 

(A) Blending 
(B) Compounding 
() Calque 
(D) Coinage 

The passionate language of Seamus Heaney's 
carly works owe much to 

(AV Robert Frost 
(B) Ezra Pound 
(C) Dylan Thomas 
(D) Gerald Manley Hopkins 

A man can be destroved but not defeated'" 
Says a Hemingway hero. 
(A) Sarntiago of 'Old man and the Sea' 
(B) Robert Jordan of 'For whom the Bell 

(C) Henry of 'Farewell to Arms 
(D) Harry of The Snows of Kilimanjaro' 

The 

Tolls' 

create the Syuzhet. 
(AY New critics 
(B) 
(C) 

Formalists 

(D) Feminists 

manipulated the fabula to 

(B) 

Prague structuralists 

The greatest landmark in the development 

() 

of lexicography was 
(A) Noah Webster's 'Dictionary of 

American English' 
Thomas Cooper's "Thesaurus'. 
Dr. Samuel Johnson's Dictionary of the 

Fnglish language 
(D) Charles Richardson's A New 

Dtionary of the English larnguage 

54. J.M. Barrie discusses 

56. 

57. 

play, "The admirable crichton". 
(A) the disillusionment of 
(B) the ugliness of modern 

58. 

(C) the absurdities of 

55. Eric Griffin and Carla Mazzio have studied 
in the perspective of 

(D) the certainty of 

the play 
British nationalism. 

(A Hamlet 

(B) 

(C) 
(D) 

(B) 

(C) 

The Spanish Tragedy 

Alternative Journalism is practised by 

(A) Press Regulations 

King Lear 
Leviathan 

(B) 

Press Council 

(D) Inter Press Service 

Press Commission 

The amalgamation of novel of manners and 
historical romance known as Waverlv Novels 

are authored by 

(A) Walter Scott 

(B) 

Maria Edgeworth 
(C) Susan Ferrier 

(D) Jane Austen 

According to Jacques Lacan 

life in the 

COnstitutes and sustains human desire. 

(t capitonage 
point de capiton 

(C) spaltung 
(D) jouissance 



9. used the word'fellow' to place 

a person on a level with oneself. 

(A Dr. Johnson 

62. 

(B) Pope 

(C) Shakespeare 
(D) Milton 

50. The critics argue that the furnction 

of the reader is to enter into the Consciousness 

of the author and reproduce that 

consciousness in critical writing. 

(AY Prague Linguistic circle 
(B) Geneva School 

(C) Tel Quel group 

(D) Yale School 

61. In the middle English period, 
was the language of the court, of the nobility, 
of the law courts, of the learned professions. 

(A) Parisian French 

(B) 

(C) English 

(D) Norman-French 

Anglo-Saxon 

B.F. Skinner's influential book. 
discusses the theory of learning applicable to 
language learning. 

(AX Verbal behaviour (1957) 

(B) Language Teaching (1961) 

(C) 

(D) 

DEE 2023 

English as a Foreign Language (1972) 

Language (1933) 

63. 

64. 

10 

Words that usually go together 

combinations that sound natural; (a great 

mistake instead of large mistake, a high shelf 

instead of a tall shelf) are called 

(A)Y collocations 

66. 

(B) conjunctions 
(C) derivatives 

(D) compounds 

The oldest representation of the natural 

environment according to Green Studies 

OCCurs in the account of 

(Ä) Pastoral' of Theocritus 

(B) 

(C) The Seasons' of James Thomson 

(D) Walden of Thoreau 

65. Iderntify the critic who is associated with the 
given quote about David Copper field "an 
enchanting vein which he had never quite 
found before and which he was never to find 

again". 

(A7 Charles Dickens 
(B) 

(C) 

Garden of Eden in Bible 

(D) Mr. Dombey Wilson 

Maria Beadnell 

Edmund Wilson 

"The first language is maintained as the 

reference system in the acquisition of second language" in 

(B) 

English Language teaching. 

(C) 

or word 

(AY Direct method 

(D) 
Situational method 
Grammar-Translation method 
Structural method 

method c 



67. 

(AY 25 % 

58. atb GTG0TLISI a-b, 

(C) 50% 

a-b or60T LI5| ax b, 

ßstlsGbGUmgI S6TLITÜa 

axb 6T60T LI5| a+b, 

(A)5 
(C 1 

9. pss60T L 6D l 6o 

(A) 

A 

D 

() 

IDMDILD a+b oT60T LI5 a +b, ot afl £ 
BeiT L QU)pla GrI 260T6) LDLIT(GD ? 

(1+2-3X1+4)/(4+5-4x2+1)= 

(C) 

1 

2 

3 

5 

(AY 2 

10 

E 2023 C 

4 

(B) 

7 

(D) 56.25% 

(B) 

(B) 

48.75% 

(D) 

(D) -5 

(B) 

1 

(D) 3 

5 

2 

3 

10 

6T 6ofl a, Qs ÜULL 

25% 

1 

5(% 9l GoT 60T LO 69. 

67. 

11 

68. 

70. 

If the edge of a cube is increased by 25%, 
then the percentage increase in its surface 

area is : 

(A 25% 

(C) 50% 

If a +b implies a -b, 

a-b implies a x b, 
axb implies a +b, 

and a+b implies a +b 

(A) 5 
(C) 1 

Which of the following is true ? 
(1+2-3x1+4)/(4+5-4 x2+1) = 

(A) 

(C) 

3 

D 

1 

5 

10 

(B) 
(D) 

Which of the following fractions is not a 
proper fraction 2 

of the circle is : 

(C) 2 

(A) V2 

(B) 

48.75% 
56.25% 

(B) 

(D) 

1 

(D) -5 

5 

A circle is circumscribed around a square as 
shown in the figure. The area of one of the 

4 

2 

four shaded portions is equal to .The radius 

10 

5 

(B) 2 
(D) 3 

P.T.O. 



71. 

72. 

73. 

74. 

0.5 x 0.5 + 0.09 � 0.15 

(A} 0.08 

(C) 0.8 

GT 600T J(5LD ? 

1 

(A) 2 

0.125 +0.027 

(C) 5 

11088 5.s.� 
24 Q.L 6TGofle), 

(A) 11 Qs.LB 

(C) 19 Qs.L8 

(A) 35 

(C) 55 

6 

DEE 2023 / C 

(B) 0.2 

(D) 1 

1 

(B) 

A 

(D) 1 

(B) 

3 

5D. o LD L9l GoT 2WTO 
S6OT ,TO 5IT600T 85. 

ITLGSo, 25 LDMGOT 6JÍTS�T upu 

5oflGst sTaiNT Gofl S6nE WTSI ? 

16 Qs.L6 

(D 21 ls. L8 

(BY 75 
(D) 25 

LDT600TGuT 

12 

71. 

73. 

74. 

The value ofo 5 x 0.5 + 0.09- 0.15) 

(A) 0.08 

(C) 0.8 

(A) 2 

(C) 5 

72. Find the opposite number of 4 in the dice 

(A) 11 cm 

(C) 19 cm 

0.125 +0.027 

6 

(A) 35 

(B) 

(C) 55 

(D) 

(B) 

The volume of a solid right circular cone 
11088 cm. If its height is 24 cm then fin 
the radius of the cone. 

(B) 

0.2 

(D) 1 

(D) 

1 

(B) 

3 

(D) 

16 cm 

In an Examination, 40 Students passed Mathematics, 25 Students passed in Phys and 10 Students passed in both Mathemat and Physics. How many students appea for the examination ? 

21 cm 

is: 

5 

75 

25 



GpJD 45 

(A) b6iT6tljay 12 LDGNf 

(B) (Du56) 3 LD Eofl 

(CY ooL5) 6 LDaofl 

Coupro0T LDlGT601G00)) T�I 75. Four different electronic devices make a beep 

(D) (pÓL5U 9 LDGofl 

(A) 9:4 

Cu 30 6lLl LÂ 

h5ÜLGbGurg 9AgT TD 12 Qs.ß 
-al6bSI 16 Ge.t� 2wGlpg. QG 

(C) 3: 16 

GaDFl56T : 

(4) 

(B) 9:7 

7. oroJ(5LD (LPlq.6y56fla GT6DOU GsnGisÜ-77. 

(D) 9:16 

GTGDGUT EHOJ5(GT5LD 5TDSTAls6iT 
GTGbGOT 5TDSTASls(O5LD GDGGS�T 

GTQUGDIT 550J5(65LD GLDGOFH60T 

() la GLDGNESeiT 55O66TT 

EE 2023/C 

() GrseT BLD6OFE(O;D HOJ56T GO 

(A) () LoDmLD (I) DLQGD 

(D) () LDDDD (IV) DLOGD 

GD 

(9 (), (II) LoDDo (IV) DLGGD. 

(DY (), (1) LDÖgo (II) LoLOGD 

76. 

13 

after every 30 minutes, 1 hour, 12 hour and 

1 hour 45 minutes respectively. All the 

devices beeped together at 12 noon. They will 

again beep together at: 

(A) 12 midnight 
(B) 3 am 

(C) 6 am 

(D) 9 am 

The radius of a spherical balloon increases 

from 12 cm to 16 cm as air being pumped 
into it. Find the ratio of the surface area of 

the balloons in the two cases. 

(A) 9: 4 

(C) 3: 16 

Which of the conclusions follow from the 

given statements. 

Statements : 

Conclusions : 

(B) 9:7 

(D) 9: 16 

All doors are chairs. 

All chairs are tables. 

() All doors are talbles 

(II) Some tables are chairs 

(IV) All tables are doors 

(B) 

(A) Only (M) and (I) follow 

(C) 

Only (III) and (IV) follow 

Only (1), (II) and (IV) follow 
(D) Only (), (1) and (II1) follow 

P.T.O. 

(I) Some tables are doors 



78. 

79. 

80. 

81. 

2_6TGTT60T. 5L G0L_B60aT GGT l GoT GLDa 

5Ll4LD 

(A) 5 olso 2 GTGTT G01 
(B) 4 lssi 9 GT ATT G0T 

(¢ 6 auplseT 9 GTTGTT G01 

(D) 3 6uls dT eT GOT 

4+4x4�4+4=4 6T 6D Gsr696JWm 6OT5| 
(sDGT LIT), $Gp QsrGasÜULL aTBS 

AOD;b ? 

(A) 

(B) 
(C) 

6OLDS5ATLD ? 

(D) (B) LoDgD (C) 

(A) n6 

+ LDÖgD +' 

GUTES. GauaflüuT G5afl6a oT GHOT G0f\ E560DH : 

(C) 62n 

LDDDLD 

(olquTt ? 

(C) 

DEE 2023 / C 

(A) 13 5TL50T 

onJTH. B G GaunwaDu 20 pTL 
56flav Glsig) lqæUT0. A, B 

(B) 

11 5TL56T 

(D) 

6n 

B GT5 60 60T 

6n2 

(B) 

GGo 
3 5TL 5 6IT 

9 bTL5oT 

(D) 12 5TL 560T 

78. 

79. 

80. 

81. 

14 

You have two red and two blue blocks. How 82 

many different towers can you build that ara 

four blocks high using these blocks ? 

(A) 5possibilities 

(B 4 possibilities 

(C) 6possibilities 

(D) 3 possibilities 

Which of the following changes would make 

the given expression correct ? 
4+4 x4-4+4 =4 

(A) +' and'>x' 

(B) '-' and'' 

(C) +' and '+ 

(D) Both (B) and (C) 

If n dice are throvwn simultaneously, then the 
possible number of outcome is: 

(A) nó 

(C) 62n 

(A) 13 days 

(B) 

(C) 11 days 

(D) 

Two person A and B are engaged in a work 
A can do a piece of work in 12 days and b 
can do the same work in 20 days. They work 
together for 3 days and then A goes away 
In how many days will B finish the work ? 

(B) 

6n 

(D) 

6n2 

9 days 

12 days 

83 



'A' 6T60T LIT0 

5ofl aD, 

21 5ITLL 5 orfl 

(A) 10.5 

8.4 

(A 144 

(C) 132 

:Q5 GT 60T 5 6tl 6oT L�.tl.D 432 LDÖML 
gml 6oT �.olI.5T 36. d GT GOT 108 
T6sil a), LDD Gpmd GT GOT GTGUQTO ? 

´B Gr G8T LJT0 

847 s. LÑ. 

(A) 715 Qs.L8 

(C) 747 Q.L6 

(A AICly 

(C) 

(B) 

CaSO4 
E 2023 / C 

(D) 9 

(B) 

(D) 152 

(B) 

122 

ouplpop lanoTu UwGTUQSlpg ? 

700 F. L 

(D) 800 Q.L8 

(B) CaCOs 

10% 

(D) Fe,O3 

15 

82. 

83. 

84. 

85. 

"A can do a piece of work in 14 days while 
B can do it in 21 days. In how many days, 

working together they will complete the 
whole work ? 

(A) 10.5 

(C) 8.4 

(A) 144 

The LCM of two numbers is 432 and their 

HCF is 36. If one of the number is 108, then 
find the other number. 

(C) 132 

(A) 715 cm 

(C) 747 cm 

(B) 8 

in Haber process ? 

(D) 9 

The present height of a tree is 847 cm. Find 
the height two years ago, if it increase at 10% 
p.a. 

(A) AICI, 

(©) CaSO, 

(B) 122 

(D) 152 

(B) 

Which one of the following catalyst is used 

700 cm 

(D) 800 cm 

(B) CaCO, 

(D) Fe,O, 

P.T.O. 



86. 

87. 

88. 

S0bU` alG,b5) GT G5ÜLQlpg ? 

(A) yGuTÝ9Gul 

(B) Ll Gsl 

(C) LDmG Bou 

(D) sTEITBT 

IG`GO GuTgI LBGgonaT aflspg? 

(A) MgC Lo�gILo CaC 

(B) Ta,C LoDgb Mg,C3 

() Al,C LoDgo Be,C 

(D) B,C LoDg0 CaC, 

(C) B 

(D) BlsJ Dl464 FTLI;, Gau 9o aoTLÜLY 

DEE 2023 / C 16 

86. Kamela dye used for wool and silk is obtained 

from which of the family ? 

(A) Euphorbiaceae 

(B) Musaceae 

(C) Malvaceae 

(D) Solanaceae 

Which of the following carbides give methane 
on hydrolysis ? 

(A) Mg,Cg and CaC, 

(B) Ta,C and Mg,C3 

(C) Al,C, and Be,C 

(D) B,C and CaC, 

When any two atoms approach each other, 
forces of attraction and forces of repulsion 
takes place. If: 

(A) Net result is repulsion, total energy 
the system decreases. 

(B) Net result is attraction, total energy o 
the system decreases. 

(C) Net result is repulsion, chemical bono 
is formed. 

(D) Net result is attraction, no chemica 
bond is formed. 

DE 



B 9| 

(E.MI% 5 60) QD Ul 60T 60)FGoJ5L� 500 ms-1 

(4 
(B) 

600 

iTGo GöUT, AGNoßoTLD (op Gu : 
120 Hz LDÖMID 5 m 

ms -

100 Hz LDÖDILD 5 m 

(C) 120 Hz LoDgLD 6 m 

(D) 100 Hz LDoMo 6 m 

90. 60T LTLD bl606D 5W NÜl: 
(A} @su GlouaflusO Bsflälcmpgi. 
(B) GoJoflbgdT(a5� AATO GopilGap5. 

(D) lal6Ö0T L_flsleiT 5fls 5JqÜlo Ll6D5 

(B) L(H LDG G0TE5 LD 

(C) w� (600T5D 

(D) uTÜET6OT S504 

(A/S,N, 

1. SI`G# ilAbeD, Gsrars $flApGo91. 

GTGOIg GDpssÜLflpg ? 

(C) Ph,P= NPh 

OEE 2023 / C 

B - 6) 

(B) (NPCl)n 

(D) S,Cl, 

89. 

17 

90. 

92. 

A transverse wave nmoves from a mediunm A 
to a medium B. In medium A, the velocity of 
the transverse wave is 500 ms-l and the 

wavelength is 5 m. The frequency and the 
wavelength of the wave in medium B when 
its velocity is 600 ms, respectively 
(A) 120 Hz and5 m 

(B) 100 Hz and 5 m 

(C) 120 Hz and 6 m 

(D) 100 Hz and 6 m 

In second degree heart block is : 

(A) Cardiac output is increased. 

(B) Stroke volume is decreased 

(C) The ventricular rate is lower than the 

atrial rate 

(D) There is high incidence of ventricular 
tachycardia. 

The ratio between lateral strain and 

tangential strain is : 

(A) Compressibility 

(B) Bulk Modulus 

(C) Young's Modulus 

(D) Poisson's ratio 

are: 

Which polymer is calleda one dimensional 
metal ? 

(A) S,N, 
(C) PhP= NPh 

(B) (NPCI), 
(D) S,Cl, 

P.T.O. 



93. 

94. 

Qurgo ? 
(A) 

(B) 

(C) LC nDg 

ou fl 6o A 

Gur(GHS|5. 
6ufl6e A 

(a) umfleofl wco 

(b) uowflofl o 

(c) levTIJ TGÜTI 

(d) GsÜFl 6T 

6uflne B 

(i) 5iTtÊ) 

(AY (a) -(i), (b) - (iv), (c) -(), (a)- (i) 
(B) 

(iv) louÜU 2 60Tie 

(a) -(iv), (b) -(), (c) - (ii), (d) - (ü) 
(C) (a) - (), (b) - (ii), (c) - (iv), (d) - (ii) 

QnaungGLO : 

(D) (a) - (ü), (6) -(ii), () -(), (d) -(iv) 

DEE 2023 /C 

(A) ufla bTDY ;S00T utla sTDy 
(B) 5160G0OT LIl bTLDLY ; utla syDY 

93. In the following which one is oscillating wiH 

degree of freedom ? 

94. 

one 

18 

(A) Simple pendulum 

(B) Loaded spring 

(C) LC circuit 

(D) 

Match column A with column B. 

(a) Pacinian corpuscle 

(b) Meissner's 

(c) Ampullae of 
Lorenzini 

(A) 
(B) 

All of these 

corpuscle 

(d) Jacobson's organ 

(C) 

Column A 

(D) 

(B) 
(C) 

(D) 

Column B 

) 

(iü) 

Pain 

receptor 

Cranial ; spinal 

Olfaction 

(ii) Touch 

Spinal ; cranial 

95. GTILBufl6a 'X BTLDLn6T S16ÖGT Gns95. Epinephrine stimulates X Nerve and 
Acetylcholine stimulates'Y Nerve, soX and 

Y respectively are: 

receptor 

(iv) Thermo 

(a) - (ii), (b) - (iv), (c) - (), (d)- (ii) 
(a) - (iv), (b) - (), (c) - (ii), (d) - (ü) 

receptor 

(a) - (). (6) - (ii), (c) - (iv), (d) - (ii) 

(A) Sympathetic ; parasympathetic 

(a) - (ii), (b) - (ii), (c)- (), (d) - (iv) 

96. 

Parasympathetic ; sympathetic 

97 

9: 



(4) 
(B) 

(D) OgGotr 60oJo 

(4} 3B, 4B, 5B, 6B (B) 3A, 4A, 5A, 6A 

(B) 

(C) 

(D) 

GouflGwmOT 

(C) 

6lon aT 6l60 6T 5TLLITB5I ? 

(D) 

2023 

ul 600T T LD` l60) 60T 

A0DBorTLD 5IT600T 6) 

GlG0) OTOJLD 5T600TGU 

19 

96. 

97. 

98. 

99. 

Foot and Mouth discase in cattle is caused 
by 

(A) Variola virus 

(B) 

(C) Rubella virus 

(D) Rhino virus 

Picorna virus 

In the periodic table p - block includes the 

following groups: 

(A) 3B, 4B, 5B, 6B (B) 3A, 4A, 5A, 6A 

(C) 1A, 2A, 3A, 4A (D) 1B, 2B, 3B, 4B 

Molecular evolution of life was proved by : 

(A) Haldane's experiment 

(B) 

(C) Urey and Miller's experiment 

Bottle Neck effect 

(D) Pasteur's experiment 

Which of the following does not show 
Interference pattern ? 

(B) 

(A) Grating-to find wavelength of light 

(D) 

Fresnel's Biprism Experiment 

(C) Fresnel's Bimirror Method 

Newton's Ring-to find radius of the Ring 

P.T.O. 

(C) 1A, 2A, 3A, 4A (D) 1B, 2B, 3B, 4B 



(AJ fly GornGi-5- UmGv GLI' 

(B) oUTLITGU -6-LUTa UL 

(D) 6-5miduG , `s Gor lL l45 

101. Gie J 

(A) Bl,afl usv 
(B) 

(C) auaugüuTG ER 

0LDL CLTSm a�oT fl T 

(D) GJ&uTGemLD 

102. LLWTGU Lg G 

G0pUTL4, 60T 5ITJ 60T LD T (GLD : 

(A) ourGaTILflflGs 

(D) GTLD.6T O.6TE 

OJ6DG60)UE ETTB55) ? 
(AY GsTADM6SILD 60 IbÍJLD 

æy 

(B) QTADITGOTLD GlLDeGTBoIT 

(D) 

(C) QeTGJIT60T LD Lá GsLDgT 

DEE 2023 / C 

60a GsrGUElsna GT GV (E;OU GÖI LLLU 

100. The first stable compound in Hatch.a 

cycle : 

20 

(A) Ribulose-5-phosphate 

(B) 

(C) 4-carbon oxalo acetic acid 

(D) 6-carbon oxalo acetic acid 

Fructose-6-phosphate 

101. Which of the following cell organelle 105 
involved in steroid metabolism ? 

(A) Nucleus 

(B) Mitochondria 

(C) Smooth ER. 

103. pa56HT L 5TOLTT�JE, GI0la G5) IOmäGsTq 103. Which of the following plants is a twiner 

(D) Ribosome 

s6 102. Diabetes insipidus is due to deficiency of: 106 

(A) Vasopressin secretion 

(B) 

(C) Calcitonin 

Antidiuretic hormone 

(D) MSH 

(B) 

(A) Solanum nigrum 

(C) 
Solanum melangena 

104 

Solanum dulcamara 
(D) Lycopersicon esculentum 

DEE 

rGDLLITel eLo 56DLGugi 



04. P5 5lflwss 
0.00231/TOTT. ASN 60J 

(A) 3000 5TLL66T 

(B) 300 5TLL56T 

(C) 300 6(5`l 56IT 

(D) 3000 T5L` 56T 

(B) T uIflsS 
(C) bgmL 

(D) UTgT(GT; LD GÖTD b 

05. UGH ETWBH JT60T 2wTbS 60 LDæLI 105. Which is the highest organ of the Panchayati GTS) ? 

06. GLDGaTLg GDGTGLT GTGÜT L5): 

(B) 

() L TE l 5T5 6T 600T 64 

EE 2023C 

104. The disintegration constant of a radioactive 
element is 0.00231 per day. Calculate its half 
life period. 

21 

(A) 3000 days 

(B) 300 days 

(C) 300 years 

(D) 3000 years 

Raj ? 

(A) Panchayat Samiti 

(B) Zila Parishad 

(C) Municipality 

(D) Parliament 

106. Mantimento means : 

(A) The mainternance of the allowance of 
diet and lodge of the administrative 

officers of the Portuguese 

(B) The maintenance and expenditure 
allowance for the Portuguese Military 

() The mainternance of the allowance of 

diet and lodge of the administrative 
officers of the Dutch 

(D) The maintenance of the allowance of 
civil works of the Dutch 

P.T.0. 



107. Gs Go G0) 60T 

(A) 1920 

(C) 1922 

(B) 

(D) s5D LDDÉfl 

(©) umgITraHLDGÄID sUmGTUS0 

109. UL Lq W6 

ULGiraTg) ? 

(A LGs-X, oT`H 239 

108. bu snaENLD 560flsn5 Asrtlcou 108. Who appointed Auditor General of Indi 

BlusliUGd UT0 ? 

(B) UG-X, a9H5 240 

(B) 1921 

(C) ugß)-X, o4THS 241 

(D) 1923 

(D) uGs-X, aGTHHI 244 

ULL5I ? 

(B) 

GTLD. GE. 5TH6) 

(C) .yt. 5rD 

(D) Gp( 

DEE 2023 / C 

107. When did the Justice party assumed 

in Madras Presidency ? 

(A) 1920 

(C) 1922 

22 

(A) President 

(B) Chief Justice of ndia 

(D) Prime Minister 

(B) 

() Parliament Speaker 

110. uiGsmel sslumslJ5D WTGTA 5L55Ü 110. Who organised Bardoli Satyagraha ? 

(D) 1923 

109. Which article of the Indian Constitution deal 
about Scheduled and Tribal Areas ? 

(A) Part-X, Article 239 

(B) Part-X, Article 240 

(C) Part-X, Article 241 

(D) Part-X, Article 244 

(A) M.K. Gandhi 

1921 

(C) C.R. Das 

(B) Vallabhbhai Patel 

(D) Nehru 

111. 

112 

13 

14 

DE 



ULQaToTT5I ? 

(A) UGs I 

2. GT b5 

(A) PcTpraug aTöS) 

(B) poöpTaUg) QTS) 

(B) LGß II 

(D) gbgTaug Q4TBEI 

(D) 

(B) 

(AY Quflumi r.Qau.gr 

Dr. DmgrLb 

(B) LlGLT T4 

(C) FOmL GousT60T Ib50 

ug IV 

(D) JIrTJTLD GLDTSG0T JTç 

EE 2023 /C 

(D) sit grig uriGam 

ol BS 111. Which part of Indian Constitution contains 

Fundamental Rights ? 

(A) 

23 

(C) Part III 

State ? 

13. 5p(5 lIT Gl6T FTHJLe G GT60TDI 113. Who was called as the Socrates of South 

AODISÜULLQJ0t um0 ? 

Part I 

B$l T 112. Which article declared India is a Union ot 

(A) Article First 

(B) Article Third 

(C) 

(D) Article Five 

(A) 

Article Four 

Asia ? 

(B) 

Periyar E.V.R. 

Dr. Atmaram 

(B) 

(C) Swami Vivekananda 

(B) 

(D) Raja Ram Mohan Roy 

interverntion ? 

(A) Lord Wellesley 

(D) Part IV 

114. Who strictly followed the policy of non 

Lord Minto 

Part II 

(C) Lord Hastings 

(D) Sir George Barlow 

P.T.O 



I15. p 5 68ÜT L u ) l) 1857 -%L� G00TG 115, Which one is not the result of 1857 Mufiny 

116. GTIB5 au(GLD iGvu spslbslw su 

GTGÜI) LDITODÜULLgI 

G5mgbsM6DQV GDI 2 (5uTHElg) ? 

(A) 1615 

(C) 1630 

5TJ 600TLD : 

(4) 

(B) GyoTT ADL_ FLLLÓ 

(B) 1616 

DEE 2023 / C 

(D) 1639 

(C) uB}flrsilcor gIG 

(A) The East India Company was liquidate 

24 

(B) The Court of Directors was replaced h 

the Indian Council headed by th 
Secretary of State 

(C) The designation of Governor Generali 

India was changed into Viceroy of ndi: 

(D) The British deprived all the rights of the 
Indian rulers 

117. Qrabsypr` STai opL a (6Bene117. Rabindranath Tagore gave up h 
knighthood title because of : 

116. In which year the English East Indi 

Company established its first factory i 

Masulipatnam ? 

(A) 1615 

(C) 1630 

(B) 1616 

(D) 1639 

(B) Rowlatt Act 

(A) Chauri-Chaura incident 

(C) Execution of Bhagat Singh 

(D) Jallian Wala Bagh Tragedy 

11 

115 

L20. 

21. 

DEE 2 



LIT0 ? 

(4) 
(B) 

() .it. 

(D) 

(1) 

. bhsioLoujop 5rOJGLflansÜuQ 5j5: 

(i) 

5TJTIGOT S6 

(iv) baT 2L6OTLITG 

(A) () (ii) (ii) (v) 

(B) (iv) (i) 

bGu#s0 

(g (i) () 

(D) () 

(ü) ) 

(iiü) (ü) (iv) 

(iv) (i) 

J. J.9.- u9l6T 60) 55| G (5 5TJ 600T LD IT 60T, 

Gauelul GTIGUTg sori ? 
(A) 10 yA&LITLut 1905 

(B) 31 lq, sDLIH 1907 

Gsiibgouit ? 
(AY 34 -6ug 

(C) 6 TiT& 1908 

(C) 7 -6l5 

(D) 9 LDm0` 1908 

(B) 3 -65 

(D) 19 -ou5 

118. Who started Bahishkrit Hitkarni Sabha in 

1924 ? 

(A) Jyotiba Phule 

(B) 

25 

(C) Dr. B.R. Ambedkar 

(D) Sri Narayana Guru 

119. Arrange the chronological order of the 

following : 

Mahatma Gandhi 

(i) First Five Year Plan 

(ü) 

(iv) 

(ii) Indo-China War 

First General Election 

Simla Agreement 

(A) () () 

(B) (iv) (ün) 

(©) () ) 

(B) 

(D) () (im) (i) iv) 

120. When did V.0.C. gave deliberate speech in 
Tirunelveli which resulted into his arrest ? 

(ii) (iv) 

() (1) 

(A) 10th October 1905 

(iv) (i) 

31st December 1907 

(C) 6th March 1908 

regiment ? 

(D) 9th March 1908 

121. Mangal Pandey belonged to which 

(A) 34th 

(C) zth 
(B) 3rd 

(D) 19th 

P.T.O. 



122. 

124. 

(A) 1948 

(C) 1953 

60)600TLJLO 6TLGUTSI ND0SÜULLE) ? 

(A} agrjH 24 

(C) 

UlcapO1. 

123. SbnSH Q5rlamaTd 6LnU0pl oTIb5 123. Which article deals with prohibition of C 

AJflu sLL QTiSI GloTGflD5 ? 

(AY QsLn 

(B) 

(AY BlaUSL 6NN (B) 

(C) GamOJ G 

(A Basl fl 

(B) 

(C) al6ÜI GlGng5iT (D) 

(C) 

(D) 1955 

AOyHSÜuQlapo ? 

(D) 

(B) 

5) 26 (D) 

DEE 2023 / C 

9 600T OT5 

1950 

(B) 

5AJTBt gnwsi GTflULO || 124. Leaves of 

HH) 25 

o9THS) 27 

Geis5ÜULL ur l 6oT 11-65| 

LDGOT 60TITÍÍ OJ60GT(5LIT 

G 

LD 600T S 5 

(D) &mN AVGT 

122. When was the first Backward Cia 

Commission Setup ? 

(A) 1948 

26 

(C) 1953 

Labour ? 

(A) Article 24 

(C) Article 26 

silkworm. 

(A) Groundnut 

(C) Linseed 

(A) Seif 

(C) Loess 

(A) Nilgiri 

(B) 1950 

(B) Gulf of Mannar 

(D) 1955 

(B) 

(D) Agasthyamalai 

(D) Article 27 

125. A crescent shape Sand-dunes are called as 

plant are fed to the 

(B) 

Article 25 

(D) Castor Seed 

(B) 

(C) Khangchendzongo 

Mustard 

126. Which of the following Indian 11th Biosph 
Reserves recently added to UNESCO 
World's Heritage Networks ? 

Barchans 

(D) Bolson 



ufl l5 

FrnDp (1): 

Quflug 
Ern/DI (II): 

(B) GoaDDI (1) sflumGtg) 

sfl wm60T 

(D) ooT FoDMIS(6THLD 5OJpTNG0OJ 

(8Y 66,600 6DGS6iT/LDG0sfl5 (5 

(B) 77,700 GoLDGJ SGT/LD GOfl s 

(C) 88,800 G0 LDG) ES�iT/D Goflas (5 
(D) 99,900 60LDG)5GT/ LD 60ofls(5 

(A) 95TLDT 

LDGMT GD - BL arGöID GQsra 
LIirnAD GJGtG Gsr GsTLdY0LUg ? 

(B) LH GU L6oT 

olunG`SÜULGeGigI ? 

(C) LIm 60FL 

(D) sGrGn LDL 

2023 / C 

S606 -

(B) 5TÈ 

(D) GsmL9 

6T 60)6 

JITOIS LD6DAU 

127. Consider the following statements and 
choose the correct answer : 

27 

Statement (1) : 

Ecosystem is larger than a biome. 

Statement (II) : 

The pyramid of energy is always inverted. 

(A) Statement (I) is correct 

(B) 

(C) 

(D) 

(B) 

128. The Earth revolves in its orbit round the Sun 

at a speed of : 

(C) 

(A) 66,600 miles/hour 

(D) 

(A) 

Statement (II) is correct 

oarGL(5D GTb5 129. The term Sarnd-Sea is associated with : 

(C) 

Both the Statements are correct 

Both the Statements are wrong 

(B) 

77,700 miles/hour 

(C) 

88,800 miles/hour 

99,900 miles/hour 

Atacanma 
Sahara 

matched ? 
130. Which one of the following is not correctly 

(A) Zinc 

Tungston 
Bauxite 

(B) Thar 

(D) Chromite 

(D) Gobi 

Rajasthan 
Rawat hills 

Kalahandi 

Malajkhand 

P.T.0. 



131. Gsm 

131. From the following statements, choose 

sflura olLGOU 
GsirbO5Gs504o : 

(a) 

(b) 5(5bLy GTatfls) 

(c) 

(d) 
GouaTTeÖOTGD LD STTb5 G5rglaT(GLD 

(A) (a) DOMD (b) fil 

(B) (c) oDgo (d) sfl 

GT6) L 6)w psGD 

(C) (a), (b) LDÖmD (c) sfl 

(D) (a). (b). (c) LobgIo () sfl 

132. @bsurolko LGoJi Gsm Gr) ? 

(B) 

(A) 0° issiCar 

180° $irs0Gsr9 

(y 82A asaGsmG 
2 

(D) 82Go ̀ iras#GarG 
2 

(A) Bulpr 
(B) govgreT 

(D) ej8lrÜrGgsu 

DEE 2023 / C 

correct answer about sugarcane : 

(a) 

(b) sugarcane loses weight very soon. 

(c) sugar industry is located near t 

Sugarcane fields. 

28 

sugar industry is raw material bas 

industry. 

(d) sugar industry is a major agro base 

industry. 

(A) 

(B) 

(C) 

(a) and (b) are correct 

(c) and (d) are correct 

(a), (b) and (c) are correct 

(D) (a), (b), (c) and (d) are correct 

132. Which among the following longitude 
India's Standard Time meridian ? 

(B) 

(A) 0° longitude 

180° longitude 

1° 
(C) 82 E longitude 

133. 9burala o Qu (CHLD GTBB LomBlo133. Which of the following Indian state ha 
up a new sanctuary for blackbucks ? 

2 

(D) 82W longitude 2 

(A) Tamil Nadu 

(B) Rajasthan 

(C) Gujarat 

(D) Uttar Pradesh 



T`gl 0D bb5T OLo GgaÜl134 The Bhagirathi and Alaknanda meets at 
QUwi: 

(A) Abg 
(B) 

(D) 9lguoy`JT 

(B) 

(C) H60ITLÔl 5T(G5i 
(D) 

5, 'DÜL psG5T 600T LD' GT GOTD GlrpTL0 135. The term 'Black Triangle' is associated with : 

Bnaul GsmGogjsDS ? 

laLDGDD umglÜy 

(4) Qarßlna (B) 
(C) 

(A) H00 

(D) 5G0D(LD5 90D 

(D) sL 0aJ 

3. booT LL51LDTS 

(D) 

E 2023 / C 

6. Dgs 5OUTO', 0pl LcöToJ(5LD GT b5 136. 'River capture' occurs in which of the 

GouoTITG8T 6) LD OJDLE 

(B) Bflu) GUDLl 

5660 a 

Devaprayag and the river gets a new name: 

TDuBl6Da) 

(A) Sindhu 

(B) Ganga 

29 

(C) Yamuna 

(D) 

(A) Flood-hit 

(B) 

Brahmaputra 

(C) Tsunami-hit 

(D) Acid-rain-hit 

Hurricane-hit 

following river's stage ? 
(A) Youth 

(C) Old 

137. Find out the odd-One: 

(B) 

(A) Tidal wave 

is: 

Harbour wave 

BITSw DGDpaumla138. It is a situation when there is a prolonged 
period of inadequate rainfall causing drought 

(B) Mature 

(C) Shallow water wave 

(D) Juvenile 

(D) Deep water wave 

(C) 

(A) Agricultural Drought 

(B) Hydrological Drought 
Meteorological Drought 

(D) Ecological Drought 
P.T.O. 



(a) 

(b) 

(c) 

5TÜL Gs q, 25-35°C aÚLHln 

LDD D) LD 150-200 ols.L� LD60Lp JOT 

TÜL DD NÈEfloJsofla 900-1800 L8 

5T 5T L5T, 

(A) (a), (b) sflumGTGN QI 

(B) (b), (c) sfluUITGOTGD O! 

(C) (a), (c) sflum6OT60) OJ 

(D) 9GDGOI55| LD (a, b, c) $tlum160GJ 

140. b5DTGI LDÖJo BGsTUmi $soaTL0 
flä5u BiTÜUJÜc uwt : 

(Ay ug5 ITGDS 5TÁ)OJTçu 

(D) 

(B) IGoT( ImGDS ST£oJ T 

(C) uåJGOTTIT Oiltl(LT 

b5LDTGT 5Lá) 

141. 5aJGITHGOS LIT}l5D olouailuD 5TJGfl 

(A) itQJD 

(B) GBs ST`JH GÌT 

(D) 5T Gö0T L GÖl 6oT 60160)LD 

DEE 2023 /C 
30 

139. Consider the statements : 

(a) 

(c) 

(b) Coffee is grown in areas havin 

(A) 

(B) 

(C) 

following 

Coffee plants flourishes well ir 
having temperature of 25 to 3S 
receiving a rainfall of 150 to 2u 

(B) 

(C) 

altitude of 900 to 1800 m or 

slopes 

Coffee production is from Key. 
Kerala, Tamil Nadu, Andhra Fra 
and Madhya Pradesh. 

(a), (b) are correct 

(D) Al (a, b, c) are correct 

140. The water body which separates 
and Nicobar islands is called: 

(b), () are correct 

(B) 

(a), (c) are correct 

(A) Ten Degree Channel 

Eleventh Degree Channel 

Bay of Bengal 
(D) Andaman Sea 

141. The external factor which affcc 

attention is 

(A) Interest 

Motives 

(C) Mindset 

(D) Nature of the stimulus 



2. (6H G0) LD 600 

(non projective technique) (popue dTa IpoJW5016)LD 6J60)5 : 

(B) LJSfl ong 

(D) 2bg GsT`sá 

5 60) 6IT 

DaTQla(Lpssla(a5L 6T aumGf sflurea 

(a aflGu5d () ) aGHG 

(b) aumIULY 

(c) 

(d) 

9l 60600T 6I IT 60T 

2 6 (6T5,6oTT64 so 600T6JT60T 
D6GTGl6(Lpslssit 

(B) 

(ii) lwæY 

(iv) AGoGÜY 

(a)-(ii), (b)-(iv), (c)-), (d)-(") 

(a)-(1), (b)-(ii), (c)-(iüi), (d)-(iv) 

E 2023 |G 

(9 (a)-(i), (b)-(iü), (c)-(iv), (d)-) 

(D) (a)-(iv), (b)-(), (c)-(i), (d)-(ii) 
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142, To assess the personality of an individual 
is an objective type non 

projective technique. 

(A) Interview 

(B) Autobiography 

(C) Questionnaire 

(D) Observation 

143. Match the instincts with their associated 
emotions given below and choose the correct 
answer. 

Instincts 

(a) Flight (or) escape 

(b) Repulsion 

(c) Appeal 

(d) Curiosity 

(i) 

(ii) 

Associated 

Emotions 

Distress 

Wonder 

(ii) Fear 

(iv) Disgust 

(A) (a)-(iüi), (b)-(iv), (c)-(1), (d)-(i) 

(B) (a)-(i), (b)-(i), (c)-(ii), (d)-iv) 

(D) (a)-(iv), (b)-(i), (c)-(ii), (d)-(iüi) 

(C) (a)-(i), (b)-(ii), (c)-(iv), (d)-) 

P.I.O. 



6T 61681 ? 

5DGTL;D Gougu5 (Dlq.Img 

5oflbgüf\bgrd LDÉlpssluprg 

145. T50) 6IT 260T 60T IT GD 56 ( lq L 

(A) EHHIGT L G) 

(B) pgD5a) 

(D) Bl45Ö 

(A) E.Q. 

(B) M.Q. 

(C/1.Q. 

(D) A.Q. 

DEE 2023 /C 

GT 600T 

144. What is the pattern of social behavio. 
age of Eighth and ninth mont infants ? 

(A) Recognises familiar persons wi 
smile and shows definite expressi 

32 

(B) Cannot differentiate between y 
and other noises. 

(C) Recognises its mother and fe 

unhappy on separation. 

(D) Attempts to imitate the speech, sim 
acts and gestures observed in others 

145. 'If you cant beat them, join them is : 

(A) Introjection 

(B) Identification 

(C) Compensation 

(D) Acting out 

146. Tests in arithmetic, language and ge 
knowledge can be used for discover 

child's 

(A) E.Q. 

(B) M.Q. 

(C) I.Q. 

(D) A.Q. 



19. 

(a) GpaÜLHNHS) DTGla(p`lsa 

_6TTEl5606T LD60)M55 (LplqLD 

(A) (a), (b) 

(C (b), (d) 

Gr5gj65mLLTGD. 

1, 2, 4, 7, 11, 16, 22, 29 ... ?? 

(A) Geý GengMTI 

(B) 

(D) (c), (d) 
(b), () 

(B) lenemGasfpcir GeGN NI 

(D loTSSE GEn6D GOT 

E 2023 |C 

(C) 2L5TL 6ulssppa 

(D) g5 6lsauDBS) 

147. Which of the following is false ? 

The characteristics of the Emotions are : 

Emotions develop very rapidly in 

infancy 

33 

(a) 

(b) 

(c) 

(d) 

(C) 

Infant can hide his feelings 

Child's emotions are brief 

(A) (a), (b) 

Infants emotions are permanent 

148. Complete the series 

(b), (d) 

(B) 

is an example of: 

1, 2, 4, 7, 11, 16, 22, 29 .. ?? 

(A) Vocabulary tests 

Memory tests 

(C) Association tests 

(D) Reasoning tests 

(B) (b), (c) 

(D) (c), (d) 

149. A child uses his past experience, the child 
should be encouraged to do his work 
independently, and he must try the various 
solutions of the problem before arriving at a 
correct solution is in 

(A) Trial and Error Learning 

(C) Insight learning 

(B) Operant conditioning 

(D) Classical conditioning 

P.I.O. 



150. 2aá %I LÔ, 615 6l ci 9 u9tlw Ggo0o| 150. Which are the correct biological nea 

S(G56TT sflum60OJ GT0J ? 

(a) 

(b) 

() Gsmieums s(GLDCUTg iy 

(AY (a). (b) LoDgLb () 
(B) (b), () LoDgID (d) 
(C) (c), (d) o�gb (a) 
(D) (d), (b), (c) LoDgb (2) 

UT 60T 60) LO 60U 

(c) 

(d) 
(A) (b) LoDDD () 

GsisTG0TG) 

(B (a) DDgo (b) 

(C) () oDgILD (d) 
(D) (2) oDgÚ (c) 

(B) T(YSHI QJlg6u 
(C) 
(D) 

plalsi 
LO60T -(5JLD 

DEE 2023 / C 
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motivation ? 

(a) 

(b) Having an even internal bo 

(c) 

(A) 

(B) 

(d) Sleep after periods of wakefulness 

(C) 

(a) 

(b) 

(c) 
(d) 

(D) (d), (b), (c) and (a) 

(A) 

151. Teacher should not teach attitude directly bu 
teacher can teach attitude through. 

(B) 

Action when rested 

(C) 

(D) 

temperature 
Rest when tired 

(B) 

(a), (b) and (c) 

(C) 

(b), () and (d) 

(c), (d) and (a) 

Direct experience 

Situational approach 
Questionnaire 

Interview 

(b) and (c) 
(a) and (b) 

(c) and (d) 

152. In thinking a mental solution of the prob! 
is not carried out through some 

(a) and (c) 

(A) Symbols 

Textual format 

Signs 
(D) Mental images 



(B) BLNS G60pUr - FFUTgoT60LD 
(C) 2gJY GODIT - eLpneTLIpbl 

(a) 

(d) 

B) 

(D) BJDY LDÖTL� 

(A 90 60T65| LDmOJLLI`I5GiT 

(C) 21 LDTOJLL_B5OT 

lu 3 LDTOJLL `J5�0T 

(D Bsfl LomeJLL� LOLQLÓ 

-a), (b), (c), (d) 

4. 5DlLp5ITL Iq.6) 295 56T6Td LÖL LÚ uGTefl5GiT 154. 295 Kallar Reclamation (KR) schools are 

(a), (d), (b), (c) 

9 (a), (c), (b), (d) 

D) (a), (c), (d), (b) 

153. Select the wrong pair. 
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(A) Habit disorder 

(B) 

(C) Organic disorder 

(D) Nervous disorder 

Behaviour disorder - Apathy 

distribu ted 

Tamil Nadu. 

(A) All districts 

(C) 21 districts 

(a) 

among 

(D) The Nilgiris district only 

(b) 

in order. 

(B) 3 districts namely Madurai, Theni and 

Dindugal 

Cs60 6 155. Maslow's theory of self actualization 
hierarchy needs are jumbled. Arrange them 

Physiological need 

Love need 

(c) Safety need 

(d) Self esteem need 

Stammering 

(A) (a), (b), (c), (d) 

(B) (a), (d), (b), () 

Encephalities 

(C) (a), (c), (b), (d) 

Fear 

(D) (a), (c), (d), (b) 

in 

P.T.O. 



(A) GTLIGum(gID GTGbaT Gi0TLDGOD LD6T 

(B) 

(C) 

(D) Gpi0T LD GDD 
LDLGGD 

157. Yp GsÖg 

(a 60 DWÚ uT(H GTT 

(B) 

Gens6060T 

Gsng600T 

LD GOT GO (Lp fl 5GiT 
LD Gofl 5 

(D) 560TO! LIGULITWQy GsMgDE 

DEE 2023 / C 
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156. Based on the kinds of emotions, choose the 

correct answer from the following : 

(A) AIl the positive emotions are alwavs 

good and the negative emotions are 

bad. 

(B) Negative emotions are not essential for 

the human welfare. 

(C) It should not be assumed that all the 

positive emotions are alvways good and 

the negative emotions are bad. 

(D) Only positive emotions are essential to 
human welfare. 

projective technique different 
symbols frequency are taken into account for 
Assessment of personality. 

157. In 

(A) Thematic Apperception Test 

(B) The ink blot Test 

(C) Serntence completion Test 

(D) Dream Analysis Test 



(A) GanoITO 

(B) aanaodluTO 

(C) Gam Gsra 

(D) 0aDuno 

59. 5ÖpGU GT GOT I5|, FtluT 6OT LD6OT0UTGT GOLD 

uT6T60O LDS 60 6T 560OT OLS|(GLD, GTG0T LI5| 

(A GTgta As9JLIQJH Bopb (Roger's) 

(B) oucg Bop sÖp) 

(C) LDTOi Gamol cÜI BDDÁ) 

(D) GiulGireatfl ear 5Dpá 

(A) lay sritbgDOJ 

(B) BLBn5 smiBSDOJ 

(D) sm�G sppá) Ul456fla), Aplasmi, 

DEE 2023 / C 

is the study of the problems of 
normal people and the prevention of the 
incidence of serious emotional difficulties. 

(A) Henology 
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(B) 

(C) Helcology 

(D) 

Hexiology 

160. 53GaT u oT 5DD) Il4 5 6fl a), öDLL| 160. In Gagne's hierarchy of learning, the lowest 
four orders tends to focus more on the 

159. Learning is nothing but stampling in of the 
Correct responses and stampling out of the 

incorrect responses is 

Hygiology 

(A) Roger's experimental learning 

(B) Trial and error learning 

(C) Moslow's learning 

(D) Skinner's learning 

(B) 

(A) More to cognitive aspects 

More to behavioural aspects 
(C) Both behavioural and cognitive aspects 
(D) No separations of cognitive and 

behavioural aspects in hierarchy. 

P.T.O. 



161. LTL l�. UTONU 
GET5 6) 60T LI 

Guprsg GT ? 
(A) 9ET GÐ0T Lf 6oT LITO TEJ 

(AJ/Ba`GS0 

162. lI5 LD 600T LD QsÚ5) srGT GTT G 60T lq W 

(B) 

(C) 

(D) i GooT`S5o 

(a) 

(b) 

(c) 

sntbg QOHSÓ 

5BgTLDITONH| 

(, w D60T 161. Which of the following does not come unde. 

Bhatia's Battery of performance tests ? 

(d) play smitb5 QJAT0TEA) 

(A) (a), (d) 

(C) (b) 

DEE 2023 / C 

(BY (a). () 

9_L 60T L� 

(D) (c), (d) 
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(A) Alexander's Pass along test 

(B) 

(C) Picture construction test 

Pattern Drawing test 

(D) Immediate memory test for digits 

162. A girl who has to get married does not like to 

leave her mother to whom she is very 

attached, develops interest in playing with 
dolls. It refers 

(A) Repression 

(B) Projection 

(C) Displacement 

(D) Regression 

163. The stages of early childhood are: 

(a) Dependence 

(b) Independence 

(c) 

(d) 

Selfish and unsocial 

Intellectual development 
(A) (a), (d) 
(C) (b) 

(B) (a), (c) 

(D) (), (d) 



(a) aul5TLG5á 6) 

(b) GaTEGD G8T 

(c) 2rT 6 wa 

(d) LDGTGprÚ 

(A (a)-(ii), (b)-(1), (c)-(iv), (d)-(i) 

(ii) 

(B) (a)-(iv), (b)-(ii), (c)-(1), (d)-(iü) 

II 

(C) (a)-(ii), (b)-(), (c)-(i), (d)-(iv) 

(B) QsmÖQumgiT 

(iv) (60DIT 

(D) (a)-(iv), (b)-(i1), (c)-(iiü), (d)-() 

() 

(D) oâüSO 

DEE 2023 | C 

164. Match the following : 
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(a) 

I 

Guidance 

(b) Counselling (ü) 

() 

(c) Psychotherapies (ii) To resolve 
difficulties 

To resolve 

(d) Psychodiagnosis (iv) To resolve 
disorders 

(A) (a)-(i), (b)-(i), (c)-(iv). (d)-(i) 

t65. Gbal GLuTL -lpco LDmgltlul 165. Pick the odd one that does not come under 

disturbances 

(B) (a)-(iv), (b)-(ii), (c)-(), (d)-(ü) 

To identify 
abnormalities 

(C) (a)-(iüi), (b)-(). (c)-(ii), (d)-{iv) 

(A) Cognition 

II 

(D) (2)-(iv). (b)-(ü), (c)-(ii), (d)-() 

(B) Semantic 

(C) Divergent Production 

(D) Evaluation 

the operations of Gulliford's Model of 
Intellect. 

P.T.O. 



166. NCPFECCE -GI olounssLD : 

(A) New Curriculum and Playwav For 
Early Child Care and Education 

(B) National Curricular and Pedagogical 
Framework for Early Childhood Care 
and Education 

(C) National Children Programme For 
Effective Child Care Education 

(D) New Childfriendly and Playful 
Framework for Early Child Care 
Education 

167. 9lyel 6o 60T 6) I 

6l60 Q) GT6T60T ? 

(A) 9gsÀlon o6DW Apgi) 

(B) 

(C) sfluGT iTeln6ot GitbGl5Gs5) 
(D)/ 6(5gGsrTSnGT FfluT0gsi 

(a) 

(b) 

5piG SGH5 GIMA Aoiligi) 
Luflso LDDMLD 5T L 60)60T 

(a) GuTLlg oDgjLD PGHIGGDLDBsÖ 
(AY (a) ioDgo (d) 
(B) (b) oDgILD (C) 

(C) (a) DÖDLD (C) 

(D) (a) DDgD (b) 

DEE 2023 /C 

166. Full form of NCPFECCE : 
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(A) New Curriculum and Playway For 

Early Child Care and Education 

168. 19 ooT 6 (5 6 GOT QUD M oT fl ur6oT R GoT I 168. Which of the following exhibit effective 

(B) 

(C) National Children Programme For 

Effective Child Care Education 

(D) New Childfriendly and Playful 

Framework for Early Child Care 

Education 

167. Which is the next step of formulation of 
hypothesis in problem solving behaviour ? 

(A) Problem understanding 

(B) 

National Curricular and Pedagogical 

Framework for Early Childhood Care 

and Education 

(C) Select of correct solution 

(D) Verification of hypothesis 

(a) 

learning in the classroom ? 

(b) 

Collection of relevant information 

(c) 

(d) 

(B) 

To provide suitable learning 
Reward and punishment 
Praise and report 

Competition and co-operation 
(A) (a) and (d) 

(b) and (c) 

(C) (a) and (c) 

(D) (a) and (b) 



169. 'LJGT otTI 6TT IT 5 LD' GT 60T) 5((55) (p bl a 

(A 5o 60 G00T LILD (1964) 

171. 

(B) Gslu sol QsrT605 (1986) 

172. 

(C) TLDLDiTGB G9 (1990) 
(D) (5mGTLD S( (1999) 

(A GioLMGTGSl nTe) 

(B) GrGU 

170. "gJÜLGUb lasorat ADDwpp 170. "Adolescence is a period of stresses and 
LIHOJD 

(C) 9urGeg 

(D) YH 0T 0T 

BLDmL LLT0 

GH". 

GLoTLLLT0 GOFs oir 1.2 aSl Li 

(A) 80 km 

(C) 64 km 

(B) 

(C) aaD6iTflaci 

DEE 2023 / C 

76.8 

(B) 

km 

75 km 

(D) 70 km 

(D) 9gT6TflGi sT L4 GoLT 

169. The concept of 'School Complex 
originated in which report ? 

41 

(A) Education Commission (1964) 

172. 

(B) National Policy of Education (1986) 

(C) Ramamurthy Committee (1990) 

(D) Gnanam Committee (1999) 

strain". 

(A) Stanley Hall 

(B) Ross 

(C) Piaget 

(D) Bruner 

171. A bike covers 76.8 km in 1.2 litre petrol. Then 
the milage of the bike is 

(A) 80 km 

(C) 64 km 

press". 

(B) 

(B) 

was first 

(A) Roberto de Nobile 

(D) 70 km 

(C) Henriques 

75 km 

is called the "father of printing 

Alfonso de Albuquerque 

(D) Francisco d Almeida 

P.T.0. 



173. GIS eflourGS 

(A) Geographical Indexing System 

(B) Geological Integrating System 
(C) Geographic Information System 
(D) Geometric Information System 

174. sBUl ls6o160 60TU9l BLb5I (plqooD 

(A 170 

(B) 182 

(C) 

(D) 160 

162 

(c) 

(d) 

6T600T 600fleb6) 

173 

180 

175. GI BGT LDÖg� afluts afl oar auwt 
5606T GlIT(h5|5: 

160 

168 

(b) FTHI Ü (i) q.6T GOT. GgE68T 

DEE 2023 / C 

() iv lcor 

GFÜLGT G0U -GT (iv) L6L 
LLGT 

(a)-(), (b)-(ii), (¢)-(üi), (d)-(iv) 
(B) (a)-(i), (b)-(1), (c)-(i), (d)-(iv) 
(C) (a)-(i), (b)-(), (c)-(iv), (d)-(iiü) 
(D) (a)-(iv), (b)-(ii), (c)-(), (d)-(ii) 

173. GIS Expand : 

(A) Geographical Indexing System 

Geological Integrating System (B) 

42 

(©) Geographic Information System 

174. Mention the number of women team and 

nations respectively participated in the 
recently concluded 44th International Chess 

Olympiad held at Chennai. 

(A) 17O 

(B) 
(C) 162 

(D) 160 

175. Match the following: 

(b) 

Teams 

(a) Through the 

(c) 

182 

(A) 
(B) 
(C) 
(D) 

broken glass 

A life of our 
planet 

Nations 

History of 

173 

Mankind 

180 

160 

A song of India (ii) 

168 

() 

(d) Sapiens - A Brief (iv) David 

Ruskin Bond 

T.N. Seshan 

(ii) Yuval Noah 
Harari 

Attenborough 

(a)-(i), (b)-(ii), (c)-(iü), (d)-(iv) 
(a)-(ii), (b)-(0), (c)-(ii), (d)-iv) 
(a)-(i), (b)-(), (c)-(iv), (d)-(ii) 
(a)-(iv), (b)-(ii), (c)-(1), (d-(ii) 

44 -QJ5) sta G5s Glsau olan oT ITLQ 

(D) Geometric Information System 



176. BITCOIN (19L5mLG) GT GÜTDT¢ : 

(A) 9lLlqGi [bITG0T LULD 

(C) 

(D) sÀlLÚILL EITG0T LJLD 

177. Gum(bHI5 : 

(a) 

(b) 

(c) 

(d) 

9600T600T IT 

5606D(G5iT 

(i) 

(ü) 

EJGDOIl LD5ITG) (ii) 51J5Jmsl 

Sofls piy 

J6060T 600 

gsoflÝT 

(A) 3 LDL`(5 

(A) (a)-(i), (b)-(üi), (c)-(iv), (d)-() 

(C) 27 LDLBG 

DEE 2023 / C 

(iv) 9guiaSl&1T60T 

(B) (a)-(iv), (b)-(i), (c)-), (d)-(i) 

Flpiy 0 LDLILD 

() (a)-(iv), (b)-(), (c)-(ii), (d)-(i) 

D) (a)-(iv), (b)-(1), (c)-(i), (d)-(iüi) 

178. G(H FSITGEßT LISSLD 3 Qs.LB 

9oTLp6oTM! LDL`JSITS DITDl6oTITG lnL 

(B9 DLIHIG 

(D) 12 LDLI`G 
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176. What is a " BITCOIN "? 

(A) A British Currency 

(B) A Virtual Currency 

(C) Unit of Computer 

(D) Minted Coin 

177. Match the following : 

(a) 

(b) 

(c) 

(d) 

(A) 

(B) 

(C) 

(D) 

Library 

Anna Centenary () 

Library 

Connemara (ü) 
Library 

Saraswathi 

Mahal Library 

Kalaignar 
Centenary 
Library 

Special feature 

(ii) 

Depository 
Library 

(A) 3times 

Rose Palm leaf 

Manuscripts 

(C) 27 times 

Sathura 

garathi 

(iv) Special Centre 

(a)-(iü), (b)-(iü), (c)-(iv), (d)-) 

(a)-(iv), (b)-(ii), (c)-(1), (d)-(ii) 

for Braille 

(a)-(iv), (b)-(i), (c)-(ii), (d)-(ii) 

(B) 

(a)-(iv), (b)-(1), (c)-(ü), (d)-(ii) 

178. The side of a square is 3 cm. When the side is 

tripled then the area of the square is increased 

by: 

9 times 

(D) 12 times 

P.T.0. 



asnla ILUI`JBOfloi GTGS5j`5TQs�T : 
(a) 

(b) 
(c) 

Geujm5 HT G80T lay (Al) 

(d) 3D 9floóoT Ig.a 

um(5L 56fl6t QoOTLWLo (loT) 

(A) (a), (b) oÖgD () 

flureli4 

(B) (a), (c) oÖgD (d) 
(© (b), (c) wDgD (a) 
(DY GojsaTL AGDGOTHGI LD 

(a) 

180. QuTGHHIS 

(c) 

Guop DTOUL L`J5(O5L6ÖT. 

QaubLGsmL 6DL () 51655G4 

CsmL60L 

DEE 2023 / C 

LDulomibuTGDD (ii) cl(65B50 
(d) Glsm) GNS (iv) g5 

(4Y (a)-(iv),. (b)-(), (¢)-(Gi), (d)-() 
CsTL60 

(B) (a)-(ii), (b)-(iv), (o)-(iü), (d)-) 
(C) (a)-(i), (b)-(iüi), (c)-(i), (a)-(iv) 
(D) (a)-(i), (b)-(iv), (c-(), (d)-(ii) 

-oOo 
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179. Which of the following are 
emerging technologies ? 

(a) 

(b) 

(c) 

(d) 

(B) 

(C) 
(D) 

(A) (a), (b) and (c) 

(b) 

(c) 

(d) 

Artificial intelligence (AI) 

(A) 

Internet of Things (loT) 

180. Match the following : 

(B) 

(C) 

Virtual and Augmented reality 

3D printing 

Name of the archeological site with the 
district. 

(D) 

(a) Vembakottai (i) Tutiucorin 

Porppannaikottai (ii) Krishnagiri 

(a), (c) and (d) 

(b), (c) and (d) 

AIl the above 

examples of 

Mayiladumparai (iil) Virudhunagar 
(iv) Pudukottai Korkai 

(a)-(iv), (b)-(1), (c)-(ii), (d)-(1) 
(a)-(i), (b)-(iv), (c)-(iü), (d)-(1) 
(a)-{(1), (b)-(ii), (c)-(ii), (d)-(iv) 
(a)-(i), (b)-(iv), (c)-(i), (d)-(ii) 

-0 0 o 


